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In a LPP, for a maximisation problem, the entering variable is the non-basic variable
corresponding to the most value of (z e j).

(A) Positive Smallest

(B)
(C) Largest \% Negative

CriGam ® Sewiys HLsHod, QunLrEsed sensdle, oLlu@b wwmlurs odrer

Slg LuenLuioer wrhlCur@, Qsm e wg (z 4 -c j) eflgyen_wi ' wrdlwirs
B m&EED. '

(A) Crplenwmen (B) WHsafdlw

€ Bstufiu D) adflewien

An assignment problem is always a form of a transportation problem.
(A) Simplex M Degenerate

(C) Non-degenerate (D) Bounded

CuNE@EUTSSS samadlen uigGULD HTeN REIGEL([HE STEHE.

A)  seflbueaips (B) Sashs

(C) Sevgeupp (D) eumbysELLILL

In a network diagram, the nodes are denoted by -

(A) Squares \K Circles

(C) Bold (D) Rectangles

@@ Qenemu eflarsasiuLSH60, sgyssar Gappred GHssILBL.
(A) sgod B) elib

(C) SwsswLNsE (D) GQseueusid '
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4. If a lot is accepted or rejected on the basis of 2 samples combined, then it is known as
(A)  Single sampling plan
M Double sampling plan
(C)  Variable sampling plan

(D)  Sequential sampling plan

B smpsdat @Qoanps UlssHL, @m Gallume goug ez Borsfllug U

GTEBTLIIT.

Q) p@smp paop HLb
B) QG apyep o
(©)  womhl sam aperm HiLib

(D)  afles aperm S ib

5. Assignment Algorithm is also known as

Simplex algorithm

M Hungarian method

(C)  Optimization technique

(D)  Generalisation technique

281660 samsfeman Geiaumprsayibd eI,
(A)  sefluuenps Ligapen

B)  apiCsfwén apenp

(C) eoswob ST P DEET

(D) Qumgienw sramapepaser
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6. Which of the following model does not take uncertainity into account?

(A)  Stochastic model M Deterministic model

(C)  Descriptive model ' (D) Static model

£Gyp Qsn@asiiul Perer wrdf Lg ks, arg Héswiblambmu sarsdld aBsgis Camdrearmsg)

(A)  aumin9we wrdfl ugeub .(B) Smwremnorer wrHfl Ligeud
(C) eearsswmen wrdfl Ligeud (D) ﬁmmuﬁﬂu_ld) wrHfl Ligeud
78 Which of the following model gives the exact solution obtained by Mathematic model?
M Analytic model (B) Deterministic model
(C)  Simulation model (D) Static model

£Cyp Qar@ssiuBearar wrfl Ly ksl g safls IHAL Lgabd apawb Wlss sflwren Sreflene

Siafl&@Lb.
(A) uELY apen I ugeb (B) Smworanoner wrdlfll Ligaibd
(C) QswnCGumed 2 (e Ligeuld (D) Heneuiuwed wrfll Ligab

8. In double sampling plan, if d, +d, < ¢, implies
Accept the lot (B) Reject the lot

M Accept and replace ‘ (D) Repeat inspection

Bm smepep HLLEHD, dy +dy < ¢y TenLg TMHE GHESGD
(A) @EdAwue gHesssss) B) @Edwa Birmsllsssssss
(C)  gHess6s HMID IHH Si@OSH5D (D) GCsrgeenenu S(mbLF ez
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10.

11.

SIST/18 6

The median of a given frequency distribution is found graphically with the help of
(A) Histogram Pie diagram
(C) Frequency curve y Ogive curve

Car@asiiu’erer sene@aa Lraudd G Hlaamu saradl Luan@in QUENTLIL DTGNS

(A) QscueusiiuLb (B) e iibuLid

(O seCauaraumare, . (D) gwsd eumaray

If the mean of five observations x, x+2, x+4, x + 6, x+8 is 11, then the mean of first three
observations is

0(9 B) 11

(€) 13 (D) 15

BBS 2 (HULGSET X, x+2,x+4,x+6 whpd x+8 sl (& syraf 11 %G, ULy Cwelld s
tpenm 2 hriLgsatlen s HasTrafuneans.

A 9 B) 11

(€C) 13 (D) 15

Which of the following is not a random variable?
(A)  Price of a share
(B)  Rainfall in a year

- (C) Marks obtained in an examination

M Number of states in India

ECi Qar@asiiul_Hereranauuie T8l UMl rdlenwid sTynss).
(A)  unidlen ALY

B) e LS wapwietey

(C) Gpiefled QupLiLLL wHUQUeTESET

D)  @pHwreled 2 erer wreul L kisalen eramarisma




12.  Which of the following is a three-dimensional diagram?

(A) circle (B) square

M sphere (D) bars

£Cip Qan@astiu_Barar LLhisafld gl priuflomesT LLD? .
(A) el : (B) szmmb

(C) Casmemd (D) ulew

13.  Which of the following is not a typé of bar chart?

W Ogive (B) Multiple
(C) Percentage (D) Subdivided

£Cyp Qasn@éstiu_Heatarancusafie) arg) LLeL eflerésliLLSHlamen smyTsamal?
(A) sy (B) uwengpsiLl_enL.

() N 7 7112 T T T (D) smmliuen

14. For dealing with the qualitative data the best average is

(A) mean (B) median

\M mode (D) geometric mean

LT safian e sEhsE WsF Apps syref wntgeaflc
(A) sl (& srmafl (B) @ flae
©C) ws® D) GQumssd syrsfl
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15.  When the population is shown for each of the states in India, these data are classified as

‘/ Geographical (B) Qua ntitative

(C) . Qualitative (D) Chronological

@pHwrelgiedrar wnflonsalar wss Qsrasmiu THG QUENSILITEN Qdmﬂu&]u_ueb?

(A) yeluwe (B) eramsyeray

(C) uearuaray (D) s semey

16.  The extreme values in a negatively skewed distribution are in the

W left tail (B) right tail

(C)  middle (D) none of the ahove

ardlinoenp Gam_ L Liyaidlen seL_Awirer AUiLseT o drar @b
A) Qg e (B) awg eura

(©) pBE e (D) Cuwle smpliul L eeu ergieyLileveney

17. For a grouped data, which of the following is rarely used?
(A)  quartile deviation : | (B) standard deviation

(C)  arithmetic mean \M average deviation

Gpeurar yearafluwgiée@ ECp QsrdésiiulHérar eraneu eruGEuUTps T vwenuBSsLLGEng ?
(A)  srowrer eflewésd (B) Al dassn
(C)  &l®&sgra (D) sprefl eeésn
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18.  The regression lines cut each other at the point of

M average of X and Y (B) average of X only

(C). average of Y only (D) none of these

@@ Azm_iiyLGunéE Car@ast geaepGureany Qeul iy sGsmeanEs Leteflwureng)
(A) X wpmb Y -ar symaf (B) X -énagpmafl wl_(Hbd
(C) Y -anagnafl b Hib (D) @eumbe ergiayb @eoema

19. Determine the Spearman’s rank correlation coefficient from the following details:

Y D? =30,N =10.

W =08 ‘B) r,=032

(C) r, =040 D) r,=-0.40

&Gy Qarpasuul@erer efleurmsafiaimbg) i QwiCoaler g7 afles @l Bnastseimen
sen (D191

Y D* =30,N =10.

A) r, =082 - (B) r, =0.32
(C) 1, =040 D) r,=-0.40
20. If each of the items in a series is multiplied by a common factor, the value of the standard
deviation is .
(A) unaffected (B) decreased
y increased (D) common factor

o Qsr_izfuld gadeunm elursdoanyb b CuUTgs smyaiulamd QuEmESILLLTD, g6l e
L efless wduureng).

(A) urdlssiung) (B) @@paunE@ug
(€C) ofswonEeug (D) Qung ameflwn@es
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21.

22,

23.

An alternative chart to pie-chart is

M step bar diagram

(©)

sphere

(B)
D)

rectangular chart

cylinder

alL dlarssuugdlparer wrhprer efletésls UL OTEuS

(A)
(©

UL e efleTa&suLTtd

Camerrtb

(B)
(D)

QlFcucus auenTLIL LD

2_(mener

Graphs and charts facilitate
(A) comparisons of values

(C)  to know relationship

(B) to know the trend

W all the above

auenyuLLD LdHmb efletssliuLkisear Apuiug

(A4)
(©)

A bag contains 7 white, 6 red and 5 black balls. Two balls are drawn at random. Find the
probability that they will both be white.

wdluysamar UG Heug

Qs semer ifleug

o i
153

20

G e
© 153

2@ @uudle 7 Geudreanar, 6 Heuliy Ppmd 5 MmUY b6 2 draTar. iemeusaambs) 2 LIbg&Eener
soamiuy weapuile GCsiey Qelwbd Qurpg, <@ @raT@n Glmma)mu.ma; B muushaten

Plapssme sy
21
(A) 153
20
© 158
SIST/18

(B)
D)

Bawr Curs@samer idleug)

CuCe sapliul_ L erédamd

22
(B) T
23
(D) 153

22

B) =2

. ®) 153
23

D gt
®) 153
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94. If X is random variable with its mean X the expression E(X -X )2 represents

the variance of X (B) second central moment

M both (A) and (B) : (D) third central moment

Xaaug @@ soaumiiy worl, g sal@ syref X -5 @Qmulen  gar Caraa
E(X - X-)z -enw GHlLdHeus

A4 X-arnwmur® (B) 2-aug eniow Hply Spen
() (A) wpp (B) D) 3-ag ewuHoriydper
25.  For normal distribution :
(i) : mean # median # mode

(i) : The curve is bell shaped

(A) (i) is correct (ii) is not correct

y (i) is not correct (i) is correct
(C) Both (i) and (ii) are correct

(D) Both (i) and (ii) are not correct

QuaHlene Lraueid

(1) : sgref @eflave a&a®

(i1) : @8 wefl augeurpeaL W aamaTa)

A) ()&l (1) goup

B) (i) peum (i1) &

© (), () @rewGid &
D) @), (i) GrawGw seum
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26.  Out of 20 employees in a company, five are graduates, three employees are selected at
random. The probability of all the three being graduates is

(A) 1/64 (B) 1/125

M 1/114 D) 1/115

@@ sbbuaiuigiarer 20 ueflwrarsefie 5 Cui uCLgrilser. oflé 3 uaflurisemer sweaumiliy
woplld CGsiey Qeinyb Qurug, Seuisdr Sd@UMHL UL Lgrilaams  @mUuusnater

Hlapsseunans) -
(A)  1/64 (B) 1/125
(© 1114 (D) 1/115

27.  Three houses were available in a locality for allotment. Three persons applied for a house.
The probability that all the three persons applied for the same house is

@ u3 N 1

© 127 D 1

o® QouiLsde weam oSEsG eHEEGEsTE o draTer. e  pUisET G Sl hE
effl et 195 g e, b epenm) pua@Ehb 2iCs ofi_1g.h@ eflamamidiughaner Blapsaeinag,.

(A) 1/3 (B) 1/9
(C) 1/27 D) 1

28.  One of the two events is certain to happen. The chance of one event is one-fifth of the other.
The odds in favour of the other is

(A) 1:6 B) 6:1

© 5:1 G 1:5

Quamgd e Haped s mub H&paisH@ e Bapsflufien aumiiiumens wH@pmrendler Ll e
unEw eresfled, op@mnendlen snsas8MnE apraTUmn_araneu

(A) 156 (B) 6:1
(C© b565:1 D) 1:5
SIST/18 12




29.

30.

31.

An urn contains 5 red, 4 white and 3 black balls the probability of three balls being drawn
in the order red, white and black when the balls are not replaced after each draw, is
equal to

M 1/22 (B) 5/144

(C) 60/144 (D) 7/144

S Geumanda 5 Aeauliy, 4 Qauctenar HMID 3 HHUIL| LIHSISET 2 aTaTer. @euaeruflel(mbal eeuGaun(m
wepwyb a®ss Lbms Geumanid Csisgeli®n Hlawuid, apeanp ug,gsasm fauiy, Qeuatenar,
s eranp aufiemsudie er@UusDanen Flspsse|EE swneag)

(A) 1/22 (B) 5/144
(C) 60/144 (D) 7/144

In tossing three coins at a time, the probability of getting at most one head is
3/8 (B) 17/8

(A)
\y 1/2 ’ D) 18

gCr sowsHed 3 pramumsmar seTOD QuUTEs SFSULELTS @B SOV el (peugpamer
BlspsseuTeng)

(A) 3/8 B) 17/8

€) 12 - (D) 18

If the density function of bivariates X and Y is given as f(x,y)=38xy, for 0<x<1, 0<y<l
the marginal distribution of X is

@) fx(x)=8x ] J fel)=2

©) fxlx)==x

M) fx(x)==

.::.lcn

f(x,y)=3xy,0<x<1, 0<y<l aang @monfl X wppid Y Wdr Gefley smiuadn erafléd, X—em
aflafliby LiTeueTEg)

@) fyle)=3x _ ®) fxlx)==

© fylx)=3x O fylx)=2

13 SIST/18
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32.  Variance of X in a Bivariate distribution of X and Y interms of moments is represented
by

Hay c (B)
(©) Hyy (D) Hoo

X—ar @muord uradled wmurd X oige Y ew dlossLtumsss Qsrassans

Qaflwiu@®ssieus)
(C) Hy (D) :uoo

33.  Given that P(A)=1/3, P(B)=3/4 and P(AuUB)= % . Probability P(B/A) is

A) 16 (B) 4/9

W 12 D) 1/3

Gsn@asiucL  P(A)=1/3, P(B)=3/4 wppi P(AuB)=:—; wafld, P(B/A) en

Hl&psseureng;
A 16 (B) 4/9
© 12 D) w3

34. If an event B has occurred and it is known that P(B)=1, the conditional probability
P(A/B) is equal to

W P(A) (B) P(B)
(C) - One (D) Zero

B eranug Bsppe oL flapsd Cogib sisdar Qsfihs Bapssey P(B)=1 eaeflé, siper Hupsamen
Hspsse; P(A/B)é@ swwrens

(A)  P(4) (B) P(B)

©) gamy D)  ygeuid
SIST/18 14 ‘ =



35.

36.

37.

For small sample testing, the quality of 2 sa\n?eans can be tested by using test.

(A) F-test t-test

(C) Z-test (D) z* - test

Amsnm Carsemeanied Gran® sapsefien syrsfullen aflsHuinsmisamer Cengaenullen
EPELD HTERTGITLD.

(A) F-Csngewen (B) .t-Gangemen

(C) Z-Gsngeen D) x* —Cangemen

Use Chi-square statistic to calculate the value of * for a random sample of size 50 from a
population with o =10 and S=15.

J 7A= 1125 B) 2'=22.22
(©)

7£=15 D) #*=0.03

asaissl uadan sy uaTuaealmer LwaURSS @saurssdear wHlbGmean aumLiLETaT
#QpHssd6an sieray 50 wHmb o =10, S =15-Q @mHE =ifls

(A g=1125 B) z'=22.22

© 2=75 D) x*=0.03

The probability density function of the sum of squares of 'n' independent std normal variate
18

(A) 1 e—x2/2 (xz r'l (B) _1_ e—:l:"’/2 (xZ)nT—l

Wl—% 29[

LR ® Lo
‘M gn2[x 2"[2

airssnsaien sl B Asrenswyemw sriupp 'n' Quédae wrbluller flapsse) Gsdley smiLoener

ST,

(A) __1_ e—xz/2 (x2 )‘" 1 e-x?lz (xz ";l
A= :

2

© el ® Lot

2"/2|_2
2

15 ; SIST/18
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38.

39.

40.

The mean and SD of a Binomial distribution is 8 and 2. Then its parameters are

1 1
S

| M [16, é) (D) (8, %j

FEOOY ureusllen synsfl wpmb Sl dassworang weopGu 8 wimb 2 wEL. FE@@LW
LIGBTLIGTEn 6 LI TEuTg|

Given a normal curve with mean = 25.3 and SD = 8.1. Find the area under the curve
between 20.6 and 29.1

(A) 0.0382 (B) 0.2810
0.3998 (D) 0.3192

Quaflee uraudear eumasCan_HLen gen sprafl 25.3 aangibd S L aflwssworag 8.1 aeny
Qar@ssiu’Barengl. 20.6 wpmib 29.1-eé1 @evCiun L urtiuerellenen euaeGan(® ewalons s,

(A) 0.0382 (B) . 0.2810
(C) 0.3998 (D) 0.3192

The mean of a Binomial distribution is 5 and standard deviation is 2. Determine the
distribution

(A)  plx)=5C, (%)‘ (%)6-’ B) p(x)=5C, (%)' (%)a-x
(C) p(x)=25C, (%)r (}é)ﬁ—x M’(x) _ 950, (}g)x (%)25—1

FEILY ureuedlen srmafl 5 whmib S L eleésnd 2-246 G mUder uraieme s

@ p@) =5C, () (f ® o) -oc, () W
(C) p(x)=25C, (%)r (}g)%" - D) p(x) = 25C, (}é)‘ (%)25-:

SIST/18 16 =



41, HX= zﬁ,_,) and Y ~ z;fg the distribution of the variate (X —-Y) is
A B (n% ’I'%) ®) f (n%,n%)
/ 7" (ny —ny) | @ 7 (g + )

X ~ gty wdmb Y ~ 72 aafié (X —Y) erenp orfluflen upeuereans =G0
@ ("% "%) ® £("%."%)
(©) Zg(n1 - ny) (D) Zz(n1+n2)
42, If X,(i =1,2,...n) are ‘n’ independent normal variate with mean g and SD ‘o;’, then
= (X -;1-)2 : :
—4—-LtlL i1sa variate.
;( o -
(A) Normal ' (B) t-distribution
M Chi-square (D) F-variate
X, earug (i=1,2,..n) 7 sniupp @Quableel uradear sgmafl g wpmn HLelossd
o; -eflenan Clamerr_gm@ib. Gogib Z(u] (WY o <4, @ELD.
F
A) Quabama (B) t-upeuedlen
(C) ms-auss (D) F-upeuedes

43.  Let X ~ N(g, o) then the value of odd order moments are

@ 1 0

© [-3-5..@-1)0%] D)

X ag Quaflow wrfluea gpepluam. aflesda dossl CUmEEGS @grensudlen oIy
2G\D.
@A) 1 B) 0

© [1-3-5..¢2r-1)c"] D)

= 17 : SIST/18
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44,  If f(x) = Ce®-5=+9)/32 yopresents normal distribution. Then the value of C and the values

of mean and variance are .

(A) C=-2~1/—_-, mean=2, g = 2
T

1
C=——  mean=3, 0 =4
M 427 =

(C) C=6%.mean=4,a=2
b3

(D) C=ﬁ.mean=2,a=4
V3

flx) = C e -oes)ioe Bueblencols ugeuane Fripg @HaEEWD Gumupg, C-er wHUY LHMID syrsfl
. OO LI L GTENEUEILI B4 (ELD

(A) C=%,swmﬂ=2,a=2
z

1

(B) C=4J§”,&Uﬂstﬂ=3fa=4

(©C) C=$,8U"&Iﬂ=4,a=2
x

(D) C=ﬁ,sqn&tﬂ=2,a=4
n

45.  For a Poisson variable X, P(X = 2) = 3P(X = 4). Then the variance of X is

W 1=2 B) A=3/2

C i1=4 : D) 1=+2

umignen s P(X = 2) = 3P(X = 4) @muen, X ergy wrhlufien mngunLmemmw ga)

A i1=2 B) 1=3/2
© Ai=4 D) 1=+2
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46.

47.

100(1 - @)% confidence interval for ¢* in N (/z,o-z) is : . (When the sample is

small and u is known)

2 2 2 2
By Pl cpta B U g PIEt oot 8 (o doun
2 2 - 2 )
Aat2 Kl-al2

Aal2 A-al?2 —al2
ns> 2 ns? ns> s _ns®

(C) P 3 So <— =l-a D P Sog"<——i=1-a
A-al2 Xal2 : —al2 al2

N (g, o weblene upeuddler wrpum_igpsTer 100(1 —a)% poGOs®s G Qeafwiren
o - b 8l

- (@@ Aprsy WHpL -eflar wHuy AslEHmaEb L ssH)

2 2 ¢ 2 2
@A) PiS—<o'<— " —l=1-a (B) P{"; <o’ s }:1-0,
Kal2 A-al2 Kai2 Ki-al?
2 2 _ 2 2
(C) P{ r;s <o? < nzs }=1—a (D) P{ ns/ <g? SnsT}=l—a
X-al2 Xal2 —al2 al2

If X,,X,,...,X, be a random sample from an infinite population, let S? = lz (X, = )_()2 '
nia

the unbiased estimator for o is

2 2
@y -2 @ =
n-1 n

(€) n;lsz Mn’ilsz

20 wyant puews Asregdlie @mps a@ssuulL sy X, X,,...X, aald, Cogib

S? = %Z (X5 7)2 arafléd, wrpum_igear Appeflwupo wHins rag o’
i=1

S2 SZ_
@) n-1 ®) n
n-1 2 n 2
© "=s @) -8
19 SIST/18
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48. The sufficient estimator of @ in f(x,0)=(1+8)x?, 0 <x <1 based on the independent
sample of size n is

@& T=Yx (B) T=Z%
A £y

& -]+ . o T=]]%
( i=1

‘N oera) Qaran. @ LM smprag Spssear. ILiEH sriled @Qmpbs aTOESULLLTO

f(x,8)=(1+6)x?, 0<x <1, 0-cflen Gungiorer genano wHLNSLTans) 2DLGLD.
@ T=Yx ® ~T=33

i=1 i=1 1
© T=[]« o T=[]%

i=) i-1 I

49. Inarandom sampling from N (;1,0'2), the MLE of o (when g is known) is
. n 2 n 2
A 2=Y% i o3 (& u),

® =33 o =3

€ é*= Z (x; + ) D) &2 ___Z (ox; — pf

i=]

N(y. o*) aamn Guados uruddmbs &ApEEELCUNS, LU g WSS rag BUAUEG

Bapsss wHISH apenulla (1 Qzfipshlenaulien)
PR | x_," A2 _ % (xi‘/‘)2
(A) “',Z:;n (B) "‘E—n
-2 _ 2 o o —p)f
© o -§(:c,+p) D) o -2 T

50.  Which one of the following distribution has the sample itself is a sufficient statistic?
(A) Binomial distribution (B) Poisson distribution

(C) Normal distribution \V Cauchy distribution

DetreupLd ThS LiTeuenens) @qg,@;aﬁ.w saflenanCGu Gumgwrer AU s smHHHDS

(A)  mEmmIOY ureud (B) wmbgmen Ligaied
(C) @guaflaa ureud (D) aradl ureud
SIST/18 20 =




51. The estimator T, is said to be a consistent estimator of y(@) if it satisfies any one of the

following condition

M E,(T.)— y(8), V,(T,)> 0, as n—>w

B) E,T,)->y,V,T,)>1,as n>0
(C) E,T,)-y0), V,(T,)>1,as n >

D) ENT,)>y, V,(T,)>0,as n—>0

T, m 7(0) e Qurmsswew wdndirg Geaeumbd gCsaib m Hubsmasmars Qarem @
S(lwiemd

(A)  E,T,)->y(0), Vy)(T,)>0,as n >
B E,(T.)-7, V,(T,)~>1,a8 n—>0
(C) EO(T,I)—)}’(H), VU(II)—-)11 as n—x

D) ENT,)>y, Vy(T,)>0,as n—>0

52. If X = P(@), then the unbiased estimator of exp{- (K +1)@} is
\f T(X)=(-K)*, K>0
B) T(X)=(K)*,K>0
© T(X)=(-K)*, K<0

D) T(X)=(K)* K<0

X ~ P(0) araflé expl{- (K +1)8} én BarGumsg srdliumiiy wd sl Lereneuwineng
(A) TX)=(-K)*, K>0

B) T(X)=(K)*,K>0

© T(X)=(-K)", K<0

M) 7TX)=(K)* K<0

& ' 21 SIST/18
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53. If X is a random variables then E(%] is used to find :

(A) Arithmetic mean

\M Harmonic mean

(C) Geometric mean

(D) First central moment

£

X eremp sweumiin omhlufed E(L] GTEITLIG) LIWLIGTLIL &&a g LISTeuS)

(A) sl @H&synedl
(B) @enas symaf
(C) Qumse syraf

D) @ @ow HoiLEBpe

54. The 99% confidence interval for ¢ in f(x; 0)= e 0<x<w, is (for large
sample)
(A) %(f +Z,) B) %(uza/\/ﬁ)
© ~(1+1.96/4n) ‘}(‘ ~(1258/vn)
X :
fspsse; s ish smmlen f(x; 0)=0e?*,0<x <0 0 oflen 99% pbsms G Qeuafunerg
(Qummigadle)
(A) %(f +Z,) - | (B) %(tha/ﬁ)
©) %(1 +1.96/yn) ®) ~{1+258/vn)
x
SIST/18 22



55.

56.

If E(T,)=60=E(T,) and V(T})< V(T,) then
W T, is unbiased and efficient estimator

(B) 7_’2 is unbiased and efficient estimator

(C) T, is unbiased and sufficient estimator

(D) T, is unbiased and sufficient estimator

E(T))=0=E(T,) wpmd V(T;)<V(T};) erafied

A T, o 9ppsflupp whpb Hpemer wHSLrEd
B) . T, e GppsAwpp wHpd Hpermer HUSTLIEGD
(©) T, om Ippsdwupp wppib Curgoner HLISLTGD

M) T, e 9ppsflupp wppib Curgiorer ST rEL

The sufficient statistic for the parameter @ in f(x; 8)=0"(1- g) %, x=0,1is

(A) T=I1[x,. \/T=ix,.
i=1

* =l

Papssey oish emmder  f(x; 6)=0*(1-6)"", x=0, 1 uamuaraeu

WSS Teng)
@ 7=]]x | ® T=x
i=1 i=1
© T=2% O T=-"-
n zx;

23

6 &flem Cungomet

SIST/18
[Turn over




57.  The moment estimators for @ and g in Pearson’s Type III distribution is

o o

2 '
_oom ¥ my
m 327 = ' 2
my —my my —m
. m*
- _ 1 _ 1
(B) &= U P’ ﬂ B r 2
my —ny m; —m,
p 2 '
- m.~ m
(C) a= 2 . - i 2 l ¢
m; —m, my~ —my
2 2
. m - m
D) a=—">—, f=—"

ms + my

a wipgw F dpsrer HmuysSnen mem w@ulﬁu_na@ Yuisaflen euens 111 arenp GQsn@dHude

my + my

LOHmID
m; A m
(A) &= 2 ﬂ T 4 2
m, —my my —my
2
5 m, 2 my
(B) a= ' ) ? 'B o ' 2
m, —my my —my
m!* m;
- - I
©C a= =
my —m; my~ —m,
. 2 12
. my ~ my
(D) a = = ﬂ — ,
my + my mb +my
58.  Variance is independent of change of
J Origin
(C)  Origin or Scale
LIreuphLIg. wrHpSlesn sTiUHDS.
A) =8

©€) =f swag <emay

SIST/18
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59.

60.

Under a large sample, to test the difference of means if population variances are not equal

and not known then test statistic is

A) z=—21-7%2 \Mz=———xl._x2
2 2 9 2

% . % 2.5
L U m N
X = X =X
@ 2=— @) z=—TA_2

@@ Quisadlen &1, syrefl Capum_iyear Cargamanid wpuews GsrEdulen LreubLIg ST FDLD

2hosraEe|b Gsfwmod G mulear GCarsamean Letafludiwe LarueTaeu DY GD.
A ==z R

of o3 &) Jas

%1, 9 & 5
€ z=—2a"% _ D) z=—pmidlid

]
_+—
n oy

For a two-tailed normal test if ———— . H, is rejected at 5% level of significance.

A)  |Z)<1.96- f 12 >1.96

(©) |Z|<258 (D) |Z]>2.58

@0 Qomuanear QudaBlae Cargameamniear Curg B mé@wreamd, Ganu aBHCaremar

5% Blenassgenanio L S5 m&sILHLD.
A) |Z|<1.96 B) |Z]>1.96

) |z|<2.58 D) |2>258
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61.

62.

63.

How many pairs of observations must be in a sample so that an observed correlation
coefficient value 0.42 shall have a calculated value of ‘t’ greater than 2.72?

A) 34 > B) 35

© 36 7 37

am saflar U Opa) Qaw 0.42 wHuurs Qmbs g 1 sanas® wHuy 2.72 L sfswrs
BmHsTe, s Hen aramanflEams wing?

A) 34 (B) 35

(C) 36 (D) 37

For a statistician the consequences of wrongly rejecting —————— is more severe than
those of wrongly accepting it.

(A) Alternative hypothesis (ﬁ) Both hypothesis

(C)  Either hypothesis P Null hypothesis

@ erafludiwich cudaib(HEE Seum e wnlues L sismen gn@wn Cung gpuBL
cllanarayset A&,

(A) wrm ar@EGaner (B) @ma@Candse

(C) gCsabd e arHCamen D) e a@GCaner

Name the hypothesis in the following statement “New Process is better than standard
process”

M Alternative

(B) Either Alternative or Null
(C) Null
(D)  Null and Alternative

Spssan_ aunsssdierar arHCanellemen sams.
“UBlw apenm Biomes erpenu el AppHegE!"
(A) oo

(B)  wrhm (1) @emu

©) @ew

D)  @enu wipid LIH
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64.

65.

66.

Type I error is known as

(A) False negative error

" (C) True negative error (D) True positive error
W weums 19entp T DENPEHSILI(HILD.
(4) Qumiwnen erdflen Genip (B) Qumiwmrer CpflanL Genip

(C©) Quiwrererdflen Ganip

The statistic F'is

@A >0 M>l

€ <0 D) <1
sam LaTLieTaneu F openg) 2 @GLD.

(A) >0 B)  >1
(€ <0 (D) <1

M False positive error

(D) GQuiwrer Crflan Genp

To test the significant difference between sample mean and population ‘mean of a small

sample, the test statistic is

_f—.u y _f",u
A) =z= ; t=——

Note : S and s are different measures.

am Sflw samen, sam sTrefé@o Qp@mm@gn@@ syneflé@b 2 darar Wasgarananw GCamgaeanule

Cangenant) Larafludlwied LaruaTenal 2 (BLD.
@y " g=iK i e
o 5%
n n
© t=—Tot O =%
S s
n-1 n

@fuy : S wpmib s GapuL e

27
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67. Personal biases cannot be ruled out in designs.

(A) Completely randomized
(B) Factorial

Stratified

(©)
M Systematic

Qanpg Qpnd e Hés WPl WITEs S ey,
A)  puevwurs gCssmsundsul L g
(B) smeflsamer FNMHS

© upees

D)  ewwue wrfflgpemp

68.  Error sum of squares in randomized block design as compared to completely randomized
design using same material is

(A) equal
M less
(C) more

(D)  not comparable

@Gy Qumnplsafian deparssisaian sa@sd swamiliy LS L Gangemenr e,
wppewwns gEssmswnsasiulL S L sos e

(A) s
B) Eoey
(C) <=fsbd

D)  wryur® e wigwrs)
SIST/18 28



69. How are V(X,) under random sampling, proportional allocation and Neyman allocation

related with each other?

M Vrun (fst) 2 Vprop(fst) 2 VNe)-(fsl)

(B)
(©)
(D)

",ran(fsl) = Vprop(fal) < VNe_v (Esl)
Vitey®t) € Vo (Ft) < Vi (X,

ran st )

Vprop(fsl) S Vran (Esl) < VNe_v(Est)

swamiiy &QpEss®, s @zs80 wHpb Fowda @680 dwuapdler & el VI(X,)
gamatsranm Garmuiu®Gssu@fmng?

(A)
(B)
(€)

D)

an (Eal) Z Vprcp(fst) 2 VNey(Esl)
Vran (:—C'“) s mep (Eu) s ‘lNe_y (f“)
VNey (fﬂ ) s Vprop (fat ) = Vran (fat )

Vprop(fst) s Vrun (.Tf“ ) s VNe_v(Esl )

70.  What is the expansion for NSSO?
\M National Sample Survey Organisation

(B)
©)
D)

National Survey Sample Organisation
National Sample Survey Office

National Survey Sample Office

NSSO cramugen el fleundsid eremen?

(A)
(B)
(©)
(D)

Caélu wrffl sertleu® iy spsid
Caélw sarQeu@ly wrdfl spsid
Caélw wrfl serdleu®riy Sigieuusd

Caélw sarGeu@®uy wrdlfl sigeuwsd

29
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71.

When population consists of units arranged in a sequence, what sampling method would you
prefer?

(A) cluster sampling (B) simple random sampling

(C)  stratified random sampling M systematic random sampling

Yo dsigduia swesda aflmsuns SIPssLULLmbETD, Thg @mEpHssed wepew B
Caip@s@riumi?

(A)  Syer wrHA apenm B)  eeflw aumitiy &QpEss®

O  ulesaumiiy saQpRsso D) @i aumii'iy s Qp@Eés0

72.  The magnitude of the standard error of an estimate is an index of its
(A) accuracy - (B) efficiency
M precision (D) sufficiency
S0 wHOIS yer AL Genpufien sienay eramig) @) sem i@
(A) SHlimlud (B) #Slmen
(C) mlub (D) Cungworeng
73. A sample of 16 items from an infinite population having standard deviation 4, yielded total
scores as 160. What is the standard error of sampling distribution of mean?
N A B) 10
(C) 20 (D) 40
wpueildans wpueawssreHuldmbs a@asiL L 16 aarsdr Qsrar, a 6ot QL.I_GE\c;)é;asLb 4,
Glongs wdiurs 160g QsrPéfng). samis uyeud syrsMuden L Ln9emyp eremen?
a) 1 (B) 10
(C) 20 (D) 40
SIST/18 30



75.

76.

In simple random sampling with replacement, the same sampling unit may be included in
the sample

(A) onlyone ; (B) only twice

(C) three times Mnore than once

=65 @i Barb QuIHES saig i sTgmreT eumiiy &sCpHSs0, R sbld Cs sap SOEG
Csirgg Carareaug)

&) 86 wop LLHL (B) 8@ b
(C) eperm aperm WL (HILD D) em wanéEb sHswns

In a Latin square design, what is the formula for standard error of any two treatments not
having missing value?

&) S/K ®) 2S/K R

© JSHE M 282K

wsHen 517 HLL Sewli9d, @uLTs wHlieu Qarar._ gCagub @rar® Cergeaman Qunmsaflen
S Genpssrear @GsS D eremen?

(A S!K ‘ B) 28?/K

(©) ,/sf | K (D) ,/233 /K

The interaction between two factors A and B each at two levels is the ————— of simple
effect of A at second and first level of B.
(A) Addition (B) Average

W Difference (D) Multiplication

aiQeaurenyib @rem(® wiLkisamer QararL @ra® smaflsar A whmb Ber aflieileeray eranig
@rarmb LS5 2. erer A e opmid ApHe LSS 2 drar Ben eraflu Spenasetlen

BBI0.

(A) &miLe (B) sgmsf

(C) ogHunsn (D) Qumssd
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77. The median of the observations 27, 36, 28, 18, 35, 26, 20, 35, 40, 26
(A) 2
(C)

8

2
8.5 .@f 27.5 F

27, 36, 28, 18, 35, 26, 20, 35, 40, 26 oy flu Seurrusefier @enLflana 2jemeay

-3
—
==)

A

Lo

(A) 27 (B) 28
(C) 285 ' (D) 27.5
78. How many contrasts are there in all for two treatments?
(A) ~ One ' NM Two
(C) Three (D) Four

Gran® Gangean QUL &EHE®S CLIESID TEE®E PTETHT &) MHEEID?
A) gy B) Quenl
©C) epem (D) preng

79. If in a randomized block design having five treatments and four replications, a treatment is
added, what will be the increase in error degrees of freedom?

(B) 2

@ 1 |
7 3 ®) 4

®bg Corgeven GQUnEHLE&ET WHMID FHreNE LI (HEUTHES® 2 6Tar @ FLaMUULS sUHSH L
Ganganen emwlde @ Gsrgmen Gunmer CardsuulLnd Gy sligeanman s ey

ofsMaEn?
A 1 B) 2
€ 3 : D) 4
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80.  Which of the following is the correct arrangement of 8 treatment combinations of a

2% factorial experiment in standard order?

M ‘1, a, b, ab, ¢, ac, be, abe (B) ‘1, a,b,c, ab, ac, be, abe
(C) a,b,ec ab, ac, be, abe, 1 (D) a, b, ab, ¢, ac, be, abe, 1

Hevawrar cuflens 2 arer 2° sryenfl Gangenanen 8 Cangenan Quinmer Carsmasaflan sfwrer auflas

leneu(meuemeuHmIET 6rg)?
(A) ‘1, a,b,ab,c, ac, be, abe (B) ‘1, a,b,c, ab, ac, be, abe
(C) a,b, e, ab, ac, be, abe, 1 (D) a, b, ab, ¢, ac, be, abe, 1
81. Ifthere is one standard Latin square, the total number of Latin squares of order 3 x 3 is
(A) 6 B) 9

12 (D) 15

@Cr @m srwrar assen sxrsms aHSHsQaETaTLTd fd 3 x 3 auflens Qanam @sSean sgrsdlen
crawrenflEeana eraucuaTa,?

A 6 ' B) 9
(C) 12 D) 15
82. Valueof b in Y =a+bX remains same with the change of
M origin (B) scale
(C) both (A) and (B) (D) neither (A) nor (B)
Y =a+bX eggib #wenum_igé) ———————— e iy wrybGung b e wdlliy wrrg QméELd.
(A) ewwwdiy B) e
© A wppid (B) @ranGid D) (A) wigb (B) Gren@id> @érena
= 33 SIST/18
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83.

84.

85.

The coefficient of correlation

(A) Cannot be positive
(B) Cannot be negative

.‘y Can be both positive as well as negative
(D) Cannot be zero

L (Hpeays Gapeller willureang

A) deswns @@é‘.&ﬁg

(B) @opwuns @mésns

(C)  Hews wHDID GSDWTS @) (HESQLMD
D)  ygRuws Jumésng

Link relatives for calculating seasonal indices are converted into

y chain relatives - (B) mean seasonals

(C) typical seasonals (D) specific seasonals

umauste wryursaien sanss(Hsafld @eaanmiys srmiss ———— 8 LIHPUUG e
(A) smdeds srrlaser (B) synafl LmeumisaT

(C) L wmeTomes Li(heumSeT D) @EHLO L umheuksaT

The seasonal indices for each month or quarter of different years are called

(A) chain relatives (B) link r;alatives

(C) typical seasonals Mpeciﬁc seasonals

vCany panr@sclar LI Doy srorer® uGUSGOHUUHsEST ——————  aren
Sian&suBElenmen.

(A) smdleds grmd : (B) @eeriiys srmd

(C) s wnranore LHeuRsET D) AU umeukiser
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86. A multiplicative model of a time series with components 7., S, C and I is

(A) T=Y/SxCxI) M’szSxCxI

(C Y=T/SxCxI) M) Y/(SxT)=C

@ sresbsni auflmslear ugdadar T, S, C opmibd I aaflléd oisen Qquéé;d) il ereuig
(A) T=Y/(SxCxI) B) Y=TxSxCxI

(C) Y=T/SxCxI) M) Y/SxT)=cC

87. The forecasts on the basis of a time series are
(A) Cent percent true (B) Fifty percent true

M True to a great extent (D) Never true

arejsmit aflesuilen apewns adisrab sribs wpearanilediiy ssaibadr

(A)  mIm sgeisb 2 amanw (B) pbus s5eisD 2 a@manio
(C) Qugmwerey 2 areno (D) eu@urpsib 2 @renoulidena
88.  For fitting of Mathematical functions ————— is the best method.
\W Least squares method (B) Simple average method
(C) Semi average method (D) Link relative method
sansSue srmiemen QUTHSSIUSHEH —— P HDHS PN 2 GLd.
(A)  Befmy euitds apep (B) ereflw symsf apenp
©C)  upd symafl ep - (D) @een sty aperm
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89.

90.

91.

Deseasonalisation is specially needed for
(A) Trend (B) Seasonal variations

(C) Irregular variations V Cyclic variations

LIHeUSTe UGLUMLSED eremug) GHuuns aeng @hléadns
(A) Cumsg (B) umeusre wrpurBaer
(C) @umspp wImUTHEE (D) swné wroyur@ese

Let (y,) be the given values and (y,) be the trend values. Then the trend eliminated values
on given by

A - 3+, (B) =

M — D Y= Ye

yl ye ( ) 2
(3,) eremugy Qsr@sstLL wilysamsayb, (v,) eaug Gursg wHlusamsad GmaEwruden,
@ipan Cuné@ Basls wHiLser 24D
e
@ i+ @ S
© -2 @y St
A time series has components.

M four (B) three
(C) two (D) five
sres Qs auflens — samsener QEnag).
(A) preng (B) opem
©) Qe D) mbe
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92.  If the unit of measurement of a commodity changes, the value of index number
(A) Also changes (B) Decreases
(C) Increases M{emams 1he same

QurmL_seflan Sarenausaiian sQ@safie LIHDOL FHULLTE, @GOG eresmentian wHikld

BoéED
(A) wrmHPD (B) @@moujbd
(C) =flswrgb (D) " wrHpblaoeame
93.  In computation of consumer price index, aggregate expenditure method is nothing but
M Laspeyre’s Index (B) Fisher’s Index
(C) Paasche’s Index (D) Kelly Index
wHUSE G Qseay apen apeld samsdlL @D HsrGeaT deva @HLIH 24@LD
(A)  erauQwir GHlui Gl eor (B) Yagt @HuS Gl e
(C)  umevéen @Ml Gl e (D) Qaded @GHuiLGlL_ewr

94. For consumer price index, price quotations are collected from

(A)  Fair price shops (B) Government depots
y Retailers (D) Wholesale dealers
&Gt oo @IS e ool UL eremmucuilic L8l (mbg)
Gesfasu@B g
A)  FAumw e samLser B) eysmms guGum
(C) Hooap eNDHUeETLITETTEET (D) Qs efbLememuTeTiEaT
& 37 SIST/18
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95. Factor reversal test permits the interchange of

(A) Base period (B) Given period
V Price and quantity - (D) Weights
smyenfl wrHm Cairedla W THD H@E&E D
(A)  @gliueL sreb (B) Qsr@&sULLL sTeib
(C) dfleve wHDID SjeTay (D) eremL
96.  Incomputation of consumer price index, usually the weights used are

(A) quantities consumed by the families
M quantities consumed in the base year
(C) quantities of production

(D)  quantities consumed in the given year

&Gt e GHUE sarEdGb Cury isar aoLss el
vweUBSs0uR S ng

(A)  EObukser aflhdu oearesar

B)  eglueL amsHa oflrdwu ereser

(C) e pusdulen serasar

(D) Qar@éstiulL aumLgdlen el il sareyser

97.  Which of the following represents crude birth rate?

(A) ﬁ x K (B) —l x K*
B! P
t
%— x K (D) All the above

Spsam_apflod ag QsuuaiLr piy eissms @hlédng?

Pt L 2
(A) Fx K (B) Fx K
Bt
© F x K (D) Guhseam DG FILD
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98.

99.

100.

The sampling registration system fails to record

M age and sex composition (B) birth rates
(C) death rates J (D) all the above
wrdfuudey apepmwireang @ ufle) Qelcudlaame

(A)  awg wimb urdend Hu Qearea (B)  Gply aisn

(C) @puyeisb (D) CuhsarL ojmaGg i

The most important source of obtaining vital statistics data is from
Registration method (B) Hospital records
M Both (A)-and (B) (D) Neither (A) nor (B)
Wiy @ooy yerefl eflaurhisaan Qupieudle s apoiserns cllarmi@euer
(4) udley Qeuiyd apenm : (B) oHSSIQUDMNET 246 TTRISET
(C) (A) wpmd (B) @rew(pio D) (A) wpmb (B) Qumrmssid Geéreea
Concept of stable population is due to
(A) Anderson J.L. \{ A.J. Lotka
(C) J.B.Dow (D) William Farr
Blepawimer (p(pensd Qsr@dHullen smsgmelanans sbeuT
(A)  J.L. yemwrirgen (B) A.J. Garlasm
(C) J.B.Qrer (D) efdedlwid umt
39
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101. Queueing theory belongs to

(A)  Prescriptive model Descriptive model

(C) Predictive model M Slmulatlon model

ey auflensd sgieuld crangs snhEE

(A)  ufipgienféasiuc L wrdfil ugebd (B) efleigswner wrffll Ligeub
(C) qpén samse, ML Ligand (D) QswpCurel 2 meu ML LG eubd

102. model is a representation of reality through the use of model or device.
(A)  Static

(B) Analogue

\V Simulation

(D)  Prescriptive

aandlp wrdfl Lgeub, 2 aews saewulioa Caallu®ss am wrHM
Ui QLD D660 HHelng G)maELD.

(A)  Hevoudiwe wrHf Ligeud

(B) @eerwurer wrHf Ligaud

(C) QawupCunel 2 (Heu Ligeud

D)  ufipgiersasiu’ L wrHf Ligeub

103.  The non-basic variable corresponding to the most negative value of ( -C; ) is called as the

(A) Leaving variable : \M Entering variable
(C) Slack variable (D) Surplus variable

(zj—cj) den ofsu’s afifleor wWHLUGUIG Gsriyemiw Siglua @onns wrbulme
ETeN M DIEMLPLILIIT.

(4) QeuefiCugid wm (B) 2l y@b wm
(C) e oml (D) BEHs o
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104. Preventable variation is the variation caused by

(A) Chance causes ! A J Assignable causes
(C) Both (A) and (B) (D) Neither (A) nor (B)

wrmur@seid, ungsrssiul L wrmur(RseT areng) bos ST BISETTE) GU(THELENT.
(A) sDOFwWe SryeRTRISET (B) @NUGL55565 sTyamhseT

(©) (A wpmw (B) (D) (A)-ayb Geovana, (B)-ujib @dene

105. A double sampling plan is complete, when the following are clearly specified

M N, ny, Ng, €y, Co (B) anlsclic2

(C) N, Ny, Co, Ny (D) Ny, Ny, €1, Ca

Gemaumeauemaupmer, ey Qgafleurer EGHUALILLE QHBET, BB DPDD @.'LL_L.D (P(paLD

@uimitd.
(A) N,ny,n5,0,6 B) N,ny,c,c
(C) N, nl,02,7l2 (D) nl,le,Cl,Cg

106. If the producers risk is 5%, then the acceptable quality level is

(A) 100 % (B) 0.05

w 95% (D) 0.50

2 pusHwreri @Liun® 5 sseipb aadlBéEEn CuTg, THHESS ST WL DTeng

558BID BpGLD.
(A) 100 % (B) 0.05
© 9% (D) 0.50
R= 41 SIST/18
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107. The Assignment problem is a particular case of
(A)  Sequencing problem (B) Linear programming problem
(C) Replacement problem \y Transportation problem

PEIEE_[DE saméE, asgioL i GHOTLL amsmuE FTibss).
(A)  aflespan sarées (B) CpiGsmi® sienwiis §ULssamss
(©C) M sarés (D) Cura@eaunpgs sawrés

108. For a linear programming problem, in simplex method, for a maximization problem if
atleast one (2 j—e j)< 0, then the current basic feasible solution is

(A) Optimal \M Not optimal
(C) Bounded (D) Unbounded

CpiGam () siemwiys HiLsho, selluaws wapuld, QuEbLIEsD smrso, gCasaib @m
Z;—0C; )< 0 aafle, @igen pLiLy @ liueL Ga@sphs Sieurans aeaummns &) mé@in

(A)  osps Eiay B) =spssnp Siey

©  wyeuren Siray D)  yeons Siay

109. In the simplex method, the solution obtained by (n—m) variables equal to zero and solving
for the remaining m variables is called a

\/ Basic solution (B) Optimum solution
(C)  Feasible solution (D) Unbounded solution

sefliuanps apapuled, (n—m) wrisdr aob Holss Qupp Sirey ymelwb eremmred, Jen
Bgaperer ‘m’ wrflsdr apeid Henssssaigw Siey Gaeumpis SDPESILIHID.

A) aglues Siey . (B) Qufigib 2 shs Siey
(C) @esns Siey D) epgeiloan Siay
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110. In PERT calculations, the expected variance is given by

% 0_2:[%—‘0)2 (B) 0_2»:[%'”0)2

6

(C) o,?.z[tl’+t0_tMJ2 ('D) 0,2:[t0—tp]2

6

@ S wHSE whpd uifoman pensHpsH, erdiumiiy wimur( Sermea o’ aanug

2 2
7 t,—t . t, ¥t
A 2 |2n 0 2_|_P 0
A o (——6 ] B) o" ="
: 2 2
p t, +itg—t to —t
C 2 _|_p 0 “m 2 _ 9D
€ o (——-—6 ] D o ( e
111. The longest duration in any project network is called
(A) Total float (B) Free float
(C) Critical region ' M Critical path
e HLlinel Gemamugle, Herorer Big @D srsHlaman GTGHTLIIT.
(A) e Qsmiey (B) s LppQzmiey
(C) Simonen uGH (D) &mwrer uTMS

112. In LPP, if none of the basic variables is zero, then the solution is said to be
(A) Degenerate basic solution
\W Non-degenerate basic solution
(C) Basic feasible solution
(D) Unbounded solution

CrGsm (@ mwiys SiLsé sarEdd, SigluemL wrhladm DmarbsiD Lellwions GOmow
@96, sypen Siedlenen Geueun SIEPUILIFT.

(A) Aagps dgliueLs Siay

B) AeseloorsgliuaLd Sie
©  owqium Gaspsbie
D) yeloar Sieay

= ¢ 43 SIST/18
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113.  The mean of the two regression coefficients is always
(A)  Equal to coefficient of correlation
(B)  Less than the coefficient of correlation

M Greater than the coefficient of correlation
(D) None of the above

B Gsm iyl Gurig Caellen syrsf GTUQun@ng
(A) @l®neys Qapeilhe@; swiomens

B) e ®Oneas Qapeney el @G meuTeng;

©) @ Bneys Asgenau el SiflEwrens)

(D) - Cule sapri eTencUL|LD Bdeney

114. A regression line has a slope of 5. If the mean value of independent and dependent variables
are 1 and 10 respectively, then the value of intercept is

\ﬂ( 5 B) 10

© - 15 ‘ D) 20

@@ Gsriiy Curses Cam _igen smicuneng) 5 @wh. Sisaflen sriumH LHOID FriyenLw wrHlulen
gpnafl iy epenGu 1 whmib 10 2 G aralld), ygaflen Gan wluureng).

(A) 5 (B) 10
© 15 D) 20

115. A pie diagram is which dimension? _
(A) one, \{ two

(C) three (D) four

L eleéasluL_reng) erhs Lflomerid

(A)  @nem ufwresmbd (B) @rie ufloresb
©)  @uufwresd ‘ (D)  mpreng uflwresmd
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116.

117,

118.

Arithmetic mean is 20 and mode is 18. Find out median
&) 2121 \/19.23
(C) 20.06 (D) 21.50

aa (& syrafuden iy 20 wpmib wseyer vy 18. Qe flaeufan wéiiy sam@®ily.
A) 21.21 - (B) 19.23
(C) 20.06 (D) 21.50

The coefficient of skewness of a series A is 0.15 and that of series B is 0.062. Which of the
two series is less skew?

(A) Series A
\M Series B
(C) No decision
(D)  None of the above

CQzr_ir A-saren CarlLearencusCaey 0.15 wpmib Ggmii B-&@ 0.062. Qeeigan® Gsriseafld
crs@ient_w Cam_t_erene @GenmeuanTgm@Ln?

(A) QsmrA

(B) GQsm_iB

© wue@oo

(D) CuwCe Gsr@&ssiulL age|b @damea

The relationship between mean deviation (MD) and standard deviation (SD) is
(A) 3MD=2SD G 5MD=4SD
(C) 6MD=5SD (D) MD=SD

synafl efessin (MD) whmb L elesssdne (SD) @e Cuwner Ggm_iureng
(A) 3MD=2SD (B) 5MD=4SD
(C) 6MD=5SD (D) MD=SD

45 SIST/18
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119. The type of relationship between standard error of estimate (S,:) and coefficient of
determination (r2) is

Direct

(A)
\M Inverse

(C) No relationship
(D) None of the above

Camymuwrer Sl Genip (Syx) wpmib S oren Qapeys@Eid (12) 2 arar Qgmiy
(A) Cphlen

(B) soadp

©) Qsm_iupp

(D) Cuwle saplul L ageyddame

120. While solving a problem, we get an estimating Y =10-4x. Which of the following
indicates this situation? '

(A) There is an inverse relationship
(B) The slope of the line is negative

& Both (A) and (B)

(D) Y -intercept of the line is 4

e sensfn@ Siey srgyoCurg Y =10-4X agub CpiCasr® fasgmd, o8 Spsam_euhibld
aangs GHIGADE?

(A) adiwep 2 mey 2 araTens

(B) CpiGsm_igen smiey erdlioemm erenuens

(€ (A wpmd (B)

D) CpiCamn o Y -a1 Qe @ 4 créruems
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121. Harmonic mean gives more weightage to

M small values (B) large values

(C) positive values (D) negative values

@ans spnafenw QUDUSHES THS LHULSEHES padwsged QsTHEEng?
(A) AP wdiyser (B) GQuflw wdiyser

(C) CpflenL wgluyser (D) edioern wEHULsET

122. If the grouped data has open end classes, one cannot calculate

(A) median (B) mode

\M mean (D) quartiles

Gy yeraf efleurriusefier Snps WD uELLsald araupa samsl (pigungl?
A) Qoo (B) wsb

(C)  synafl (D) sm@wmamd

123. Pie-chart represents the components of a factor by
(A) percentages _ (B) angles

y sectors (D) circles

QL eﬁlm&&ﬁuuﬁw&aﬁ@ smraflsafien ursiismer GHLGLLULBHeuG)
A) efsrpsaie B) uremswraisefle
(C) gam@asafic/ uESaafie (D) el Lmsefle

= 47
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124.  Find the probability of an even number while throwing an ordinary die (six faced)

e % (®B)

1
(C) 1 (D)

|~ i

R0 snpmem (6 UssRISET) LamLw o @ Hib Gunpg, @rie umL canseT QU(THEU SN & Tenr

Hlspssame serBidly.
1 1
(A) 5 (B) 3
1 1
© 2 (D) 6

125.  Find the chance that if a card is drawn at random an ordinary pack, it is one.of the court
cards (kings, queens, jacks)

2 3
ot M—
i 13 13
4 5

C =
© 13 13

20 fleL swamity apuia 80 .0 slgdnmHs Caitay Qewuib Qunups <ibs &0,
Qaeusafle (mrgréser, prefllsar, BEEET) enmna @) HLLISHETET aumliLienL e (51 Gg..

2 3
(A) W (B) Ty

4 5
(C) T (D) 13

126. If X is a random variable which can take only non-negative values, then

A)  E(X?)=[BEX)P B) E(X?)> [EX)P
T E(x?) < [BEXP O  E(x*)= B
X arenp sweumisiiyy onfluneng, afinoepupp wHiussmer oG Qumags.
A)  E(X?) = [BEEX)} B) E(X*)=z [BE(X)P
©  E(X?)<[BEX)] | D)  E(X?)« [EX)P
SIST/18 | 48 =



127. Consider a family of three children. Also assume that all possible distributions of children
have same probabilities. Let H be the event, “the family has children of both the sexes” and
A be the event, ‘there is at most one girl’. Then the events H and A are

Mutually exclusive (B) Complementary events

\M Independent events (D) + Exhaustive events

am GOHLusHd 3 GRbmSHT o GreTenT, SQUHET DMEUHEGD Fweumiiy apuid
soumsally odasrs @apgs CsTaTEnD feoawtie, H-adap Hspsflurag b
GHDUSHYIETET GHUTOHLTE GRBOSEET, A- ecanp Papsflurais ofsulsd @m CueT
Gph@s w O , aafld, fapsfadr H wopoid A syag).

(A) gaop e lwse Hespsélse B) Hroy fapsdlser

(C) snmiupm Hapaslaar D) apuperwner Flapaslaar

128. For two events A, and A,, if p(4,)=2/3,p(A,)=3/8 and p(4, NA,)=1/4. Then A, and
A, are .

(A) mutually exclusive but not independent
(B) mutually exclusive and independent
M Independent but not mutually exclusive

(D) Not mutually exclusive and not independent

Quan® Papsfssr A, wppbA, aefld, opar Papsse p(A,)=2/3,p(4,)=3/8 wopw>
(A, N A,)=1/4. @ruugne Bepsflsear A, OO A, @eaurm sapliuBEDS.

(A) gamp gan dlwsE Hapsslsd wpHId sTTLHD Blapeslser e
B) g gay dlose Hapsfsd Cogib sTTuDD Blap&élser

©) sriupp Paepsfac spamed garop g elwse Hapsd S
(D) gean ey AosE Qs@éé\ Sida wHpib sTTuHD HEpss o

= 49 SIST/18
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129.

An urn contains 5 yellow, 4 black and 3 white balls. Three balls are drawn at random. The
probability that no black ball is selected is

(A)  1/66 14/55
€ 29 D) 7/8

B Gouamaruild 5 ognser. 4 EBHUIL wHHID 3 Qeuetener LbgIEET 2 draren. 2E e LbsIs@eT Fi0
aumiti apenpuiier Gairey Qeibiuyd Quinps), sy LECE Cairaunasioe Qouugpsnen fapssaunang

(A) 1/66 (B) 14/55
(C) 29 (D) 7/8

130. Four cards are drawn from a pack of 52 cards. The probability that out of 4 cards being 2
red and 2 black is
O 325/833 B) 46/833
(C) 234/574 (D) 225/574
52 & ps@werar @m &) sl dmhg 4 £ Qsmear arHEGD Cumps), Siemeu prendle @rean® &0
faiurseyd whHmib 2 # G smiLTsaD Qoluspsrer fapsseareang
(A) 325/833 (B) 46/833
(C) 234/574 (D) 225/574
131.  Three dice are rolled simultaneously. The probability of getting 12 spots is
@A) 18 & 25216
(C) 1/12 D) 1/5
tpenn usaLsmar @Gy Crrsdd o mi G Cumps, 12 Ldrafsdr Aumeisparer Hapssarang
(A) 1/8 (B) 25/216
(C) 112 (D) 15
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132. 1If f(x,y)=3-x—y for 0<x,y<1, the marginal distribution of X. is

(A) felx)=3-x \fo(x)='2——x

2
X

(C) [x(x)=5— B

(D) A\-(x)=2—g-

flx,y)=8-x-y, 0<x,y <]l @s@muusred X —an cfafioy uyauareag

@) filx)=3-x B fl)=2-x

2

© Alx)=5-% O  fxlx)=2-2

133. If E,, E,,..E, is a countable sequence of events such that E, o E; >..E, then ‘lm P(E,)

n—wo

becomes

V&
B) =
) 1

(D)  Impossible value

E,, E,,..E, syfluan aamemésal Qgmi Blapsfaet, Gogid E, o Ey o..E, aafld lim P(E,)
n—rxo

arenLig)
@a o0
B) =
© 1

D) perrQupm Sy

= 51 SIST/18
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134.

135.

If A, A, and A, are three independent events, the probability of their joint occurrence is
equal to

O P(A)P(4,)P(4,) (B) 1/P(A)P(a,)P(A,)
©  P(A)+P(4,)+ P(4,) @) P(A,NA)+P(A NA)+ p(A,NA,)

A, A, opgd A, eremuenau smiump Blspeflsams Emuustd smeusaian Qavenr flspssass

FLDLDTENS)
(A)  P(A)P(A,)P(A) (B)  1/P(A,)P(A,)P(4,)
(€)  P(A)+P(A,)+ P(A,) D) P(A, N A,)+P(A N A)+p(A, ~ A,)

The definition of statistical probability was originally given by

(A) De Moivre (B) Laplace
M Von-Mises (D) Pascal

yereflullwed fapssey apsen apseld wrma SuTmIGSLILILL g
(A) g wmieu (De Moivre) (B) Cadlemew (Laplace)

(C)  auren-anwaen (V on—Mises) (D) umevad (Pascal)

136. Probability can take values
(A) - tow B) -wxotol
© -ltol P’ 0to1
Bapssay c®sgi6 Gamanend Alysar
(A) —-otow 2 B) -otol
(C -1tol M) O0tol
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137. A random sample of size 100 is taken from a large population with standard deviation 8.
The standard error of the population mean is

MO.S, (B) 0.2

(C) 0.1 (D) 0.6

gm wyeows Qsreduleo Qmps a@ssULLL amiitiyé sapsaflar Siare) 100 5 @
ss@oLu S dessonamg 8 JGD. SIB0G gymafl aprpeos Gsr@Suder ALl Gapuilamar

Se0oTL D1,
(A) 038 - (B) 0.2
(© 01 (D) 0.6

138. If the Quartile deviation of Normal distribution is 18, Find the mean deviation value

(A) 108 (B) 5.4

M 21.6 D) 85

@wd Hevae Lyaueen sr@wren ellssnmang) 18 6 @1 9en syrefl clesssdaan oibs.
(A) 108 (B) 5.4
(C) 21.6 (D) 8.5

139. The sum of the mean and standard deviation of a Poisson distribution is 6. Then the
parameter of the distribution is

A) A=2 B) A=-3

G =4 ® i=+3

umiisrer Lgeuellen spnafl wHDID S L dOsEEMSLD, Fal gD aumd wHly 6 eeafle, izen

LiRTLIeTanauILITaS) D@D
(A) A=2 B) 4i=-3
© A=4 @ Ai=+2
= 53 SIST/18
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140.  If the continuous random variable X is uniformly distributed over the interval [15,20] then
its mean is
(A) 35 (B) 25
(€ 155 M 17.5
X agud fren upeuden wrlurers ey G Qesafllieans Qameir(®. ‘[15, 20] erempyy
Bouugmien, sisgienw syrsfurens)
(A) 35 (B) 25
(C) 155 (D) 175
\
141.  The standard normal distribution is mentioned by
A)  N(0,0) ' B) N(11)
q/ N(0,1) D) N(1,0)
S Cpiranwols ueuellenen @HlLiLig D@GLD.
(&)  N(0,0) B) N(1,1)
(©) N(0,1) D) N(1,0)
142.  The shape of the curve of F-distribution is depends upon the
(A) angle \K degrees of freedom
(C) range (D) average
F-upeuefien euaetaiany cuig auiomens &niibgl QmEEWD.
(A) Casnewrd : (B) slyeamewnulian cramaniidsens
(C) e&SeQsaane (D) sprafew
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143.

144.

Hypergeometric distribution tends to binomial distribution when

(A) 7’5——)00[)—»0

M
G Voot
—)ooN—>p

C) po>O0ON-owx
(D) p—>1N-—> -

S HAUmESDH LTaIQIETS| FIILIL LTINS THILD, @ smans QasTaRTig (HHSTED

(A) %—)ot:p—)O

B) N—)m—%——»p

(C) p—>0N->»
D) p—->1N->—»

The points of inflexion of the normal curve are x = u £ o and

@  flx)=e"

Qualenes cuenareilen euanara, LMD yereflwneng x = 4+ o WLHDID

A flx)=e""

S
(B) f(x) = an—’-re

© fx)= ajge%

®  flx) = p=e*

55

24GD.
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145. If X and Y are independent random variable with parameter (6. %) and (4%) respectively

then the random variable (X +Y) follows

\M Binomial with parameter [10, éj

(B)  Poisson with parameter (10,1)
(C)  Normal with parameter (10,5)

(D)  Exponential with parameter (10, %J

X wppd Y eyeng sriumn mamiiy wm DODILD SN LiewTUeTanaILITang e (6,5)

LOHDILD (4,%) erafléd (X +Y) eremp wnihlwinang

(A)  mFmHoUY ureud, D|HEN LIGHTLIGTENE (10, %J

(B)  umismer Lipeud, Sipen Liarruerenal (10,1)

O Quaflee urad, Sigen Lasrueraneu (10, 5)

D) <GsEs Gh urwd, siga uaTuaTma (10. %]

146.  The confidence interval technique is due to

(A) R.A. Fisher (B) Crammer

M Neyman (D) Rao

Bsms G Qeuef L Lgflaen SdlapstiuBsHweui
(A) R.A. Qegr (B) &lgmor
(C) Cpuwen (D) gmeu
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147. If T. is a consistent estimator of &, then e™ isa

n

(A) Unbiased estimator of e’
MConsistant estimator of ¢’
(C)  Sufficient estimator of e’

(D)  Efficient estimator of e’

T, arenug 0 -eden @agCundlp WHOSE erafldd e eremug|
A) e’ -fme GppsSupp wHE

B) e -eflar Qurmssaperw wHISE

(C)  e?-aflan Gungoren wHIEE

D) € pr Hmenmen HIIG

148. Crammer-Rao inequality with regard to the variance of an estimator provides
(A)  upper bound on the vari;mce
\V lower bound on the variance
(C) asymptotic variance of an estimator

(D) mean of an estimator

WwrmUm_Lafenal GUnmESLoL 1. SAgTior-fre. swafled pL&E SpsaT aTans SHEADS)
(A)  wrmumLeaaaiuflen Glod raemeau

(B) ‘ wrmur_Lareneuudest &1 eTvenevanL

(C) gD wrpur_Laramaiulle wH G

(D) symefulen wEHOSE

= 57 , SIST/18
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149.

150.

151.

If x,,x,,...,x, follows U (0,0) then the sufficient estimator for 4 is
(A) It’s mean (B) It's variance
(C) 1It's 1* order statistic M It's.n'h order statistic
Xy, Xy,..., %, @oomnd U(0,4) eam ureueme snipsg aafle @dfd 0 -eflayenw Curgwren
wHSL_mengy 2 (GLD.
(A) saeLw syrsd “(B) asge w WOIHUTLL_eTeney
©€) ssagow s afloms Lare D) s w soLf aiflas Lared
If (X,,X,,X,) be a random sample from N (;1 0-2), then which one of the following is an
unbiased estimator of y?
X, -X, X, +X,) -
Rlers ® (355
W (X +X,-X,) D) (X, +2X, + X,)
(X, X,,X,) aénugy N (g, o?) eremp Pyows AsreHuldmbs c@ssiuc L wrHf gam erafle,
H -aflem D psSwimm S _reng) SemeumpLcuaneunmieT 6 ?
X -X ' X, +X
A 1 2) : ( 1 z)
@ (53 ® (B
© X +X,-X;) O (X, +2X, + X,)
The efficiency (E) of N(u, o*) over ¥ and median is

(A 2x B) 2r

€ r w’ 2/x

Ny, 0'2) eranp GuidBles Asr@Hude, symsf whmib e flere Aweapiler Hpermeng (E)

(A 2z B) or
© ' D) 2x
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152. The 95% C.L for ¢* in N, 02), when y is unknown is

nsz 2 n32 n32 2 72182
<0 S ——— (B) — <0 <—;
X(n-1)(025) X(n-1).975) X025 X975

(C) Both (A) and (B) (D) Neither (A) nor (B)

Ny, 0?) @rifeoiuradd wrpumgpssta 95%  podsms @ Qeuafliimang
(¢ QafwndméEn L_ss8d)

® [__"s_a—"s_} ®) ( wzsnf)
Z{n—l){.OZ.‘i) A(n-1).975) X025 - X975
©)  (A) wpgd (B) D) () i Gowe (B) wib @ome

153. For an estimator to be consistent, the unbiasedness of the estimator is

(A) necessary "

y sufficient

(C) necessary and sufficient

(D) neither sufficient nor necessary

am HUSE @55 CUTdD satowu @ w@safld, sy Gppsflwupm SemenLowimeg
(A) Csmeuwmeng

(B) Cungoreg

(C) Cseauwrengb CUIHILTEHID HED

(D) Csameawrangb @ome, Gurgwragib Goma

h

154. The Crammer-Rao inequality is valid if the distribution is
(A) Discrete (B) Continuous

(C) Normal Both discrete and continuous

Agmoi—gres soafldlwreng (FCs@Ib O Hapssa)) LITUS(EHEE QFoaEsss5Ts B HEGD
(A) Qsm_fEflupp UTeu (B) Qgmiéflwimen Ljeud
(C) @Que flees ugeud (D) Qm_iEdwren wHHID ASTLTLHD LTaD
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155. If X ~U(a,p), then the MLE's of & and p are

./ @ =xq) and f=x, B) a@=x, and f=x,

R

(C) G=%and g=%x° (D) @=3%x and f=Yx?

X ~Ul(a, p) eafié BLQumy snsHu apep WHALS e @ whmnd f -6 wdHise

D) a=Xx wpgb f=3 x>

156. If (x;, x5,...x, ) be the values of random sample from N(y, o*), then s* =%Z(x,. -x) is
n-14

(A)  unbiased estimator of o>
(B)  sufficient statistic of o

(C)  consistant estimator of o

M all the above

(x,x.,,...x,,)crdnu Ny, *) erenp g ClasmeHullea b%l STHESULLCL ndlf sGnefa,
10 X2 &l (CUC L & OGS

g 1 i
s —n_IZ(x, X) ereug

@) o* b@ADPsALHY HUSLED
B) o* & Cungioren wHOSL @0
©) .0° &@gszmGurdp S mEw
(D) Cuon@Hlindl L erédeannd
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157. The 100(1-a)% confidence interval for x in N(,u, 02) is (when the sample size 1s -small)

u eflén 100(1 - @)% po9éms Gen Qauafl N(p, 0'2) erenm @widvbleney LiFeue (@m
Am s QB perpuiled) |

W (5en7)

158. Bias of an estimator can be
(A) positive
(B) negative

M either positive or negative

(D) always zero

o AL e Inpss aarug

(A) Cproepwreng

(B) edlioenpuwireng

(C) CriwepuraGar (=) ardlinoenpursGeur
D) uRBusdnE swworeg
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159.  In small sample, to test the difference of means, the test statistic is

x— ¥—7
g @B et
2 2 2 2
s T L
n, N, M. Ry

x-3y

of 1 1

8] —p=

d
ﬁ LA =
L n,

fpsmpseiier syrsfufen Ceupur@erws Cenflés Cangenants yeraflufwed LekTUaTaa

(A) z
\A( t=

" GO,
(A) 2= "o“yz B) t= ’;'yz
& . % 5 5
n, ny ny, Ny
%7 d
©€ t=—ZEd D) t=
1 s/w/;z-

160. A random sample of 27 pairs of observations from a normal population gives correlation

coefficient 0.42. Obtain the value of ¢

@A) 2324 \m/z.au

(C) 2.304 (D) 2.294

@0 @uablaa wpreamw QaraHOSmibs s@sa0LLL 27 Gomg eumiiyy sag—ein U Hney Q&

0.42 grafled t—em wSllienLs smegr
(A) 2.324 (B) 2314

(C) 2304 (D) 2.294
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In LR test, under certain conditions, —2log, 4 has an asymptotic ——— distribution.

(A) Binomial Chi-square

(C) Normal (D) Poisson

Bapssas &g Gangeanded, —2log, 4 aurang LFeUeNs @) (HEGLD.
(A) DUy (B) en& aui&sd

(C) Quaseow (D) wumievmen

162. Most powerful testing is applied for_ testing
(A) composite H, against composite H,
(B) composite H, against simple H,
(C) simple H, against composite H,

simple H, against simple H,

BlenagHmen Cengenamumens) Gergamen Qe LweTUBEDS!.
A) &L H, afiteal @ H,

B) & @ H, adisngmyest H,

(C) sngmyem H, i sl @ H,

(D) smsmyen H, afli sngmyen H,

163. ILodx = v . .

w -

\0/' a ®B) l1-a
© £z D) 1-p
[Lodx=
W
A a B) 1-a
© &8 : D) 1-8

= | | 63 SISTAS

[Turn over




164 test doesn't test any parameter.

W Chi-square B) F
(C) ¢

(D) Z

s

Camgenan erbs g5 LsRTUGTENGUL| LD Gendlaang,.
(A) esaiss B F
© ¢ D) z

165. In goodness of fit, the value of statistic is always

(A)  Negative (B) Negative or Positive
\V Positive (D) Unknown
Aurmss Hpliy Carsanemia, Sagy LerTLIaTe a6 Wi eriIGLimgb (LD,
A  afflen (B) adlflen (<21) CopflenL
(C) GCrflen . (D) Qsflwng

. 166. If x=>1, is the critical region for testing H,:0=2 Vs H,:0=1, on the basis of single
observation from the population, '

f(x,0) =0 exp(-x6), 0<x <. Find power of the test
. 1 l ) )
N ®
e

D) —

$Cr @ slerellanar Qameim_ s CsrEs
f(x,0) =0 exp(-x0), 0<x<w

Genflés, H,:0=2 Vs H,:0=1en &iey sm @b ugd x=1 eaafld e Gamganan Smenen

saaidl_a)b i
1 1
Aa - - B =
e e
-1
ey == @ —=
e e—1
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168.

169.

In sampling, accept Ho when it is wrong is
(A) Type Il error Type Il error
(C) Standard error (D) Mean error

5@ @ésdar Gurg Ho arenug seuprs @maeh Cung ghpié Qsndreag aamig)

(A) s s Gy (B) @newrnb auews Genip

(C) Sl Qe (D) &ymafl GQenp

For testing the significance of sample regression coefficient, we use test.
(A) Chisquare (B)' F

o ® Z

s QarLin s Cunée Ospellen Wlmssgamain Ganflébs —— Gemgenar LwenLB&g5 Geumb.
(A) @saiEs B) F
© D) Z

If the samples are large, the standard error of the difference of the sample standard
deviations is given by

n, ny -é; 2n,
o* o _ 2n,07  2n,05
i (E_+ 2n2] & \[ [ an, | 2ng
samisar QUAlugTs @mbE). saD LraupLgseier Caupun srewr S Genip 2, @G\D.
2 2 2 2
(A) ("‘ - ] (B) [;,‘l+ = J
no Ny 2n, 2n,
o’ o’ 2n,07 2n,05
Ll D
© [2n, “on, ®) 2n, | 2n,
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170.

171.

Which of the following is not a merit of stratified sampling?

’4/ Less time

(B) More representative
(C)  Greater accuracy

(D)  Greater geographical concentration

Seneupeuanaupmier ergl, LHS @Qm@ﬁgsﬁlm Hlenm @ dena?
(A)  @opps Cpro

B)  ofsGrHfdsgeun

©) oflsmiun

D)  =fls yCans gryeaiLBsEEH

Student-t is categorised as
(A) an estimate

(B) an estimator

M a statistic

(D) aparameter

LomeRTaUIT ¢ GTEmLIZ) @)eueumay eua)&u.u@gguu@aﬂmgj
(4) S WHISE

B) @ wHISL G eTama

©C)  om sy uaTueTara

D)  emuaruaemey
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172. Three groups of data are assumed to have equal means. What test can be used?

M Analysis of variance

(B) Chi square test
(C) Correlation

(D) ttest

apenny Qsr@dsarer eflurhsd Gr &G srsfew QararymuusTs ahds QsTamTed b

G&ngmmmuj uwerHSSemn?
(A) wrpUTC@ UGUUmiey
(B) @sauiss Cangeamen

© erboay

(D) tGsngenen

173. The probable error is equal to

M 0.6745 times the standard error

(B)  0.7645 times the standard error
(C) standard error

(D) standard deviation

Aaps6a| Genpé@ sowLnas)
(A)  0.6745 gpep S Geip
(B) 0.7645 apeom S Genip
(C) Sl Gevp

D Sl cewasb
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174.  What is the formula for the estimate of the variance of ¥

« under proportional allocation?

| k .
I v N oty

j=l

n & W2 s?

(B) V(f“): 1-— L
N ; n;

n k W. s

(C) V(f‘fx)z 1-— 1 J
¢ 2 N ; n

( n\&E W s,

M VE)=|1-— —
t ' N ; L,

eflfls Lm g Bip X, e ommum_enL LA Geugnarer @GsHTio ereman?

k

L. N-n
(A V(x,)= " > Wt

J

n k Wvgsz

(B) V(z,)=|1-— i _J
‘ N ;Z=1: n;

_ n LW, s.
(C) Viz,)=|1-— 47
: N IZ, n

n L W- S;

D V& )=ll~—= L_J
(D) (x,) % ; 5

175. If n units are selected in a sample from N population units, what is the sampling fraction?

(A) Ni/n (B) 1/n

© 1/N | 7 niIN

N sogser Qaram .apigeno AsmEHldimbs n swEss Qamdm &0 THESUILLLTD oy
\Sletremd eremen? .

(A) Nin B) 1/n
(C) 1/N _ (D) n/N
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176. What is the main assumption of latin square design?
(A) - Treatment effect interact with row effect
(B) Treatment effect interact with column effect
(C) Treatment effect interact with both row and column effects

v Treatment effect do not interact with both row and column effects

wsEen s5THSL @6 (pESLIDTET HGOTED crenen?
(A) Gargeen Qunmeian eflererey auflans eflenaeyem it cilanarey HHID
(B) Gengeen Qummaien eflenerey GlosdBHS! & auflens eflenaray et erdlit afileverey <, dMID

(C) Gangeen Gunmeflen cflevaray aflens wHDID Cudmps &b euflas clamera) e (L gid
ardli eflenarey HOID

(D) Csrsewer Qurmaflen eflenaray auflens LHYID Cudmbs S cflas claaray Gre(HLgud
arflit eflenaray pHOTS!

177. Point out the wrong statement in the following :
Statements :
(A) Randomization eliminates the human bias
(B) Randomization makes experimental errors independent
(C) Randomization enables to apply Mathematical theories

\y Reduction in experimental error provides larger standard error for a treatment mean

DenaumeueneuHIIET SEUDTET HHE®S &Ll SML_L&D.

S(HSHIEEHET :

A) walsaflar g smawre eflply CeupieL sflso aumisiiy pepento faEGEng

(B)  &faw cumiiiy apenpento Gamgenen Qenpsemen FTTUDHNSTEGH DS -

(C)  sflsd aumisiy apeppento saflg GamunBaemer LwenUBSs 2 s dlng)

(D) Gsnsean Genpamar G@pLiLig Gergener Quingper syrafudien L LiSenpa sifafafng
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178.  What is the formula for estimating one missing value in a Latin square of order K ?

(A)

(R+C+T-G)(K-1)(K -2)

J( [K (R +C + 1) - 2GY(K -1) (K -2)

©

(D)

K afles Qanar wgben s5TEHD @@ ABUILCL wHieu san_Pleugnane @GsS b erenen?

(A)
(B)

(C)

(D)

179.  Which of the following is not a contrast?

K(R+C+T -26)/(K?-1)

K(R+C+T-2G")/(K-1) (K -2)

(R+C'+T -G)(K -1)(K -2)

[K (R'+C'+T")-2G'(K 1) (K - 2)

K (R+C+T-2G)/(Kk*-1)

K(R+C'+T -26)/(K -1} (K - 2

\y/TzTT

(©)

T, - 2T, + T,

enaumeuemeudmieT agy apram Gdena?

(A)

©

SIST/18

T, +2T, - T,

T -2T, + T,
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180. The bias of the person handling the data plays very important role in fitting a trend by
method. ‘

W Graphical

(B) Semi-average
(C) Moving average

(D) Least squares

wpapuie Cursfloan GurmHSSDEUTS yarefl efeurdans @SWMEHUGIT @

saalILL&01s (g deu[ss ifls eumiiLdrang).
(A) auenguL |

(B) und-sgnaf

(C)  mamwb synefl

(D) S&fpeuiss

181. Parabolic trend is a

(A) (n - 1)“‘ degree polynomial

\M nth degree polynomial

(C)  (n+1)™ degree polynomial

(D) none of the above

LITEUENETLLILD GTEITLIS)

A)  uvogniLs Cateandd (n 1) uressd
B) uo@miiys Garmaudléd n LTaMEZHET

(©) uogpuysGarameuudie (n +1) uressdr
(D) Cupsar agab Qo

— | 71 SIST/18
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182.

183.

184.

185.

The best method for finding out seasonal variation is

- (A)  simple average method Matio to moving average method-
(C) ratio to trend method (D) link relative method
UmeusTs @O srarusne Bss Anbs apen
(A)  aaflw srpef apenp (B)  &flfgapm pambd smrsf apenm
(C©)  Adsapm Cunse apenp ' D) @eemriys srind apep
Periodic changes in a business time series are called
(A) Trend (B) Seasonal changes

M Cycles (D) None of these

eflwrunygen srag Qs euflensuficr sneuid st rHDRISET GTEITLIZ)
(A) Cunsg (B) umeusre wIpUT@SET
C)  sppé (D) @ ggfloens
Seasonal variation means the variations occuring within
(A)  anumber of years ' arts of a year
(C) Parts of a month (D) Parts of a week
UhausTe mmunBiser aeng ———— &@ear ghuBdlenm LOTMILMHSET @G WD
A) fo yar@aar (B) ema®
(C) &wuwrsb (D)  emeaunmb
Least square method of fitting a trend is

(A) least exact most exact

(C)  full of subjectivity (D) mathematically unsound

Beflmieuiss wpenmufer Gunsdanem’ Qurmggieus)
A) Gopbs sodluipemL g (B) =fls godugpawg
©) afs ssfonssaamo (D) - sewrsdlwed Camum_ppg
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186. Ratio to moving average method is considered to be the ——————— for calculating
seasonal indices.

M Best method (B) Balanced method
(C) Approximate method (D) Absolute method
LmeusTe YUy mer saflés, pam olldls syrefl e e ————— Y GLD.
(A)  SApps aperp : (B) swen Qe qpeom
(C) GCarymuwmrer (penm D) sallss perp

187. The conclusions drawn from Time Series analysis are ——— true.
(A) exactly 'M not absolutely
(C) absolutely (D) ultimately
snas Asmit auflensulie Hen @D (P4 YEET SHEPEEED — 2RIEDLD.
(A) gedlwwrer (B) saflgs s0ons
©) pailss D) Quofwurear

188. Each outcome of a random experiment is called

M Simple event

Compound event
(C) Derived event

(D)  Dependent event

sweumili Cengamanien geabeur QeuafiliunBoreng!.
(A)  eaflw Hlapas |
B) sl Hopsd

(C) a@ssiulL Hapss

(D) Aupsmen Hlapss
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189. Ratio to trend method is one of the methods of measuring

A)

Trend '

Cyeclic variations

M Seasonal variations

(D)

Irregular variations

BerGunée edls apanp creng siaeflL 2. gaflpg

(A)
(B)
(©)

(D)

BerCunée;
&pné& wrmur@aser
U(heusTey mmum(H&eT

R(PESHD WImLTHESET

190.  Sampling method used in construction of cost of living index is

(A)

(B)

Judgement sampling

Simple random sampling

\M Stratified sampling

(D)

umMpEms 57 GHuSL G sienotiudé

(A)
(B)
(©)
(D)

SIST/18

Systematic sampling

Curés wrdlfl samy er®LUY aperp
craflw smm er@LiLy apevm

UBens samiapenm

9@% Wl smiapen
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191.

192.

193.

194.

The consumer price index in 1990 increases by 80 percent as compared to the base 1980. A
person in 1980 getting Rs. 60,000 p.a. Should get in 1990 is
QW77 Rs. 1,08,000 p.a. (B) Rs. 72,000 p.a.
(C) Rs. 64,800 p.a. (D) Rs. 54,000 p.a.
SjigUiLenL .&{,&s’&@ 1980w oL msiGaurt clama @GHlui@ 19906 80 efl(pssn( Siflsb. G Ui
19806 @. 60,000 p.a. erafléd 19906 <yeui Qumd LigwTid 2GLD
(A) e 1,08,000 p.a. (B) em. 72,000 p.a.
(C) ¢m. 64,800 p.a. (D) em. 54,000 p.a.
is termed as Economic barometer.
M Index Number (B) Time Series
(C) Demand Analysis (D) Vital Statistic
Qunperrgmyl unrgorefl arendlCmmd
A) OISO arsar (B) snawbsrt Qgri cufleng
(C) Caemeuani TMUSED D) pulpiy eSleugriser
Index Numbers are special type of
(A) Averages (B) Percentage relatives
(C) Ratios - Al the above
@GO eremaer : & afleuans ,@Ld.
(A)  apnafiser (B) &nips Apssn®
(C) eflgmser (D) Cuhsa i@eanHHIb
If Laspeyre’s price index ié 324 and Paasche’s price index is 144, then Fisher’s Ideal Index is
(A) 180 P 216
(C) 234 (D) 240
wnraudwir elena GMSE 324 wHmD LTevSED allena GASE 144 aafler Gagfler eflupiin GHIEG
VGO
(A) 180 (B) 216
(C) 234 (D) 240
75 SIST/18
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195. If P, and P, are the population at an interval of 10 years, the population just after five
years will be
@ S (B+R) 0(:/11“’2
TETE |
C — | —=—+— P, +P,
@ 375 RIS
P wpgid P, erénuen 10 aum @entQeuafisafiay 2 drar waser Qgnens eremmned, 5 cg,am@a;@s;@u
Upaner éser Qgrens
1
@ L(R+R) ®) JRxP,
) I (|
C — | —=—+— D P, +P,
i - (PI P 2) s s
196. Force of mortality is defined as
1 dd d
A =i X = — l l
W s B) 4y =—(log L)
d " d
\9/\#, =-—; (o ) D) p, = —F(log I
wrent Geausid erenm auenTwmSSEUILRS Ds
1 dl d
A — 1 B =— (log /
A p, r ®) =~ (log L)
© =L (0g1,) ®) =% (log 1,)
/‘x——dx OF Iy Hy = 2 O tx
197. Crude birth rate is
(A) acrude measure (B) wunreliable
(C)  neither (A) nor (B) Moth (A) and (B) are true
Geiueflm Gy eSp eremug
A)  emQsiiuel_r sereney (B) pusssenanio SIHMF
© (&) wppi> (B) Aurmssib Gome D) (A) wpgd (B) Gran@ibs o dreno
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198. Life table is a ‘Biometer’ of the population. This statement was given by.-
W William Farr (B) Reed - Merrel
(C)  Greville . (D) King -

DU SHITQ) S L CUEDEGRT GTENLIZ| DESET Qarensuden ‘2 ulliT SieTenay’ erand safdliieur
(A) efeellwib umi - (B) #fL-Qura
(C) &ACpeilaCa (D) 4dim

199. General fertility rate is a probability rate since the denominator consists of the éntire
M female population
(B) population
(C) live births
(D)  all the above

Qung Gpiiy eSpasamrid g en LGSl Ap(penLDWITES @Qmuustd g Hsbssa)
aigib eram sapULBEDS! '

(d) Quenseflen cranaflEmns
B) wasefien aramanisms
(©) eulmen Gops Gphagsaen aarefiisms

(D) Cuhsam @andg I

200. Vital index for ascertaining population growth is
(A) agood measure \M a rough measure

(C) useless (D) a correct measure

Wiy @puy GHUSE eremug wésar Hgras aueTiEfleniuid serflliugle
(A)  @mpo JjaTandl (B) emGarymuLoren jaTamal

(C) uwwerdms M) em sflwrear SiaTena
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